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Note :  Unless otherwise required in a question answers should be written either in Sanskrit or

in Hindi or in English but the same medium should be used throughout the paper.

fewmuft : s sEvEE 7 T W T YIS 1 W GERd A R @ et fed
T v H AT W W S w1 aem €@ 2 =ifge

st g afedd €
All questions are compulsory.
L IL I
(Part ‘A’)
1. frefafer vl & @ 5% 9 @ -9 g & w0 fide fauf 4 fafa
Decline the following words as directed, do three from each part : 3+3+3=9
(F) () T — T THAEA

P.T.O.
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@ g ~ wft THae |
(i) & — oI TeheEA
(v) fog — Fwdt sgaer
(v) IEEY - g e
w) TS — Fgdl THa
(@) () 1~ " g
@ dfd — Igdt s
(@) FA — A HITEA
(v) WY — YSEHl UwdEd
v) Y — U T
i) WRY — T g
I T T e qu—
@) @R — I THaE
@)y WY — UG THhaud
(v) TIY — H@H THIA
(v) S — fgdrar agae
(v) TH — Agdl A |
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L

(Part ‘B?)
freafafen o & A yd% o ¥ WA w=i @ faufE aen a=
fafew 3+3+3=9

{

Write vibhakti and vachan of the following three words by selecting from each part :
(%) TN, 73, T, fgw:, ssmay, sfef

(@) M, 99@M, FEk:, 36, 9, qiEn:

(M) wad, wifio:, Ay, ggm, st 9@

Pt wrgait § 2 Foel A wigell & T P oo o gow & fofae : 1414123

Conjugate any three of the following roots in the given ¥HR and J&Y :

¢ 9 — AU AR, IWHIRY, qgI=A

@ = — o R, HYPHYEY, Thddad
gy w9 - @ fofufee o=Rr, youges, sgaem
) 4 — g IR, SN, THIA

o) T - T AR, AHANYEY, The

frfafea 4 @ fadl & framsl § o@R, 9 @ a9 FaRT : 1+1+1=3
Identify the fhI{, &9 and I in any three of the following verbal forms :

_PTO.
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frefafed § ¥ frdl ©: vl § whw wif 1x6=6
Form Sandhis in any six of the following :

sit + g9, 3fa + 3, ® + oHAH, TEW + ICHH, V + A+, WA +
smuy, faq + aW=:, y@: + TS |

frfafen 4 @ fdl @w o wfu-frsx =i . 1x3=3
Disjoin Sandhis in any three of the following :

T, favaw:, aremH, Rasfy, swum |

frefafeas 4 @ f5d e A 9o S . " 1x4=4
Compound any four of the following :

() W gHey

Giy AT T

(i) Ffewd: qeu:

(iv)y 1 33¥49:

(v) SRYYE vy

(vi) Y90 I T G:

frfafen & ¥ fedll @ =1 T fomg wifau . 242=4

Do A fauig in any two of the following :

Jomif:, e, T, orgEy
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freferfea 4 & fodl wr Yarfema ol 3 favfa e faufe o1 R aary ; 4x0=8

Account for the case-ending in any four of the following underlined words
() T gmEm e sfE

i T weiq sfuedfa

(i) HOA AR |

(v) fagwa: @wr |

(v) 9: UM smrsfd |

(vi) B: AEHN A |

wi) WY TRIsfE |

freafafea 3 @ yofa ik gl =) S 5 ome ==l &1 fymiw
HifaT - 1x8=8

Form eight words by joining stem and suffix from the following :
@ 9+ dH

() T + S

(i) T o+ A

(v) ¥4 + Taq

v R+ =

vy faaq + w9

(vii)) @ + T
P.T.O.
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iil) § + @
(i fa + v + &Y
(x) HH + A
W@aﬁﬁﬁ%’rmwm—mﬁ%ﬂaﬂm:. 1x8=¢
Disjoin ¥h{d and I& in any eight of the following :
A, YA, TN, ead, qNd:, I, TH, Yo, S, JanH:
frafafes & ¥ fFd @ | 2@ a9 9%ka d fafau . 1(
Write ten sentences in Sanskrit on any one of the following :
O g
(i) TUIBR:
(i) ET=SANHAAH
(iv) YRGS ST |
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